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Psychology

Paper 1I

HHAHITEH
g9ueRTt 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt All questions.

0 . W e dred.

AT : A1 TRAehd TR TR (50) SEUERN TR fooidl oTRd. g TRl g (2)

According to Albert Bandura, the
following can be considered a case

of no-trial learning :

(A) Social facilitation

(B) Vicarious conditioning
(C) Response mediation

(D) Higher order conditioning

Which one of the following

approaches to personality

emphasizes people’s basic goodness
and their tendency to grow to higher

levels of functioning ?

(A) Learning Approach

(B) Cognitive Approach

(C) Psychoanalytic Approach

(D) Humanistic Approach

3T AVSYIATTAR, Weital J[-TI

AT YR 3T

(A) AR GeAHeho

(B) =Iehierg ifirem

(C) srforan weaeell
(D) S==guE AfEYE

TTelid TG ShedTieh! Shivrdl AR

ST Al Healdiel FR[CTIueR

Afsr =9 HTIUTTSA qr=vIT=Al

Yol W qdl ?

(A) 31EEH gl

(B) SeATHS TRIGME
(C) TfeReTIEE g

(D) HHEdER] gRIhH

[P.T.O.



Which of the following is/are correct
in Newell-Simon’s problem solving
research ?

(1) Task environment is objective
representation of problem

(2) Task environment is subjective
representation of problem

(3) Solvers do not have complete
knowledge of task environment

(4) Solvers have complete
knowledge of task environment

(A) (2) only

(B) (1) and (3) only
(C) (2) and (3) only
(D) (1) and (4) only

There are enormous cultural
differences in perception of objects,
events and people. Which one of the
following explanations is most

appropriate ?

(A) People differ in their physique

across culture
(B) People belong to different races

(C) Customs and values of people
differ

(D) People observe different
religions
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SAo-GRHTAT GHE URER eieATEed
GcAtedeh]! hIvd AT 3 ?
(1) HEAEAERT § THEE aes

yfaea 19d

~

(2) HTETEIT § RSN AR

yfaea 19d

(3) gHE Hiefaumr=aren SR

quf FH 9

(4) gaE Hrefaumr=ren srardeem

quf 9 eEd

(A) (2) B

B) (1) = (3) we
(C) (2) smfor (3) e
D) (1) sAfor (4) %

fafay 9&RdAed A% Wik 3TRd.
WeleTueh] I TILEIHI0 Fard Ay

AR ?

(A) A=A IR FERATTAR Fleh

Tedl
(B) <lish ATl a9 STHAT

(C) eRT=AT WA 3T Jod oiTedt
SISRIG

(D) < ATl GHIE TTedd Shidid




Which one of the following
constructs does not fully represent

a cognitive approach to personality ?

(A) Field dependence

(B) Personal construct

(C) Functional autonomy

(D) Locus of control

The Sapir-Worf hypothesis states

that :

(A) Thought is logically prior to
language
(B) Language is logically prior to

thought

(C) Language and thought occur

together

(D) Language is not required for

thought
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qEicTdehl IV Fehodal TR

Sifgeh SUFHE quigel gfaffae s

A& ?

N ERECHER]

(B) dafedsh 3=

(C) HEicHEs TRl
(D) = &g

IR—g%h  SRITHTIR

(A) fo=R @1 dfchehgeean wmor=an Tt

KSrer|

(B) o1 Bl difchehg s fommr=an amedt

A9

(C) Yo for fo=aR whd 34

(D) fo=amEmEr 9=l STEvIeshdl 99d

[P.T.O.



7. Hyperphagia is caused by lesions
to :

(A) Lateral hypothalamus

(B) Medial amygdala

(C) Lateral hippocampus

(D) Ventromedial hypothalamus

8. Match List I with List II and
indicate your answer using the code
given below :

List I List II
(Memory Term) (Description)
(P) Proactive inhibition (1) Old learning hampers
the recall of new

(Q) Flash bulb memories (2) Memory trace
gradually fades with

time
(R) Retroactive inhibition (3) Some memories are
immune to forgetting

(S) Decay of Traces (4) Newlearninghampers

the recall of old.
Answer Code :
P @ (R) (S)
@a @ @ (2) (1)
B @ @ (1) (2)
© @ @ (2) (1)
O @ @ (4) 3)

8.

DEC-13213/11
gerfoRer & &diges i Jdr .

(A) Uifyeler Tw=daTsh

(B) 9 dqMhR

(C) TIfyeler 275aHi
(D) ST g STYTIdITHh
W I 9 g I gefiel Siean oren 9

@il Hehd aT9e" ard R fae

T 1 Tt 10

(Tt ) (aut)
(P) Iwaredt FieH (1) S I T
JATATEATE TS Ul Thid
(Q EE wt (2) T T B FogFeg heal-
e AT Treldl

(R) gaAet frea (3) e Tyt fowan I

e

(S) T 3k T8H (4) Tl ST ST Y-

TEATCAT TS Hid

.
.
.

P) @ (R) (S)
A @ @ (2) (1)
B @ O (1) (2)
© @3 @ (2) (1)
O @ @ (4) 3




10.

The absolute refractory period of the

neuron :

(A) varies with age and gender

(B) places a limit on rate at which

neurons can conduct impulses

(®);

does not exist in mammalian

species
(D)

can vary with stimulus strength

An abrupt change in luminescence

is called as :

(A) Form

(B) Contour

(C) Ground

(D) Figure

9.

10.

DEC-13213/11

U TRUY STaRom e

(A) FayEe F T gaR Seerdl

(B) <amusit fordt Smme Hehd deadid

TR [AGT e

(C) 9&H 91U T9al

(D) IEUHTAT A IYHY FEeAd]

CiaEe 3T dgaTel shid o 2

(A) &9

(B) SRS

(C) geoyH

(D) ATl

[P.T.O.



11.

12.

Which one of the following involves

measure of curiosity ?

(A) Revised-Eysenck Personality

Inventory (EPQ-R)

(B) Thematic Apperception Test

(TAT)

(C) State-Trait Personality

Inventory (STPI)

(D) NEO-Personality Inventory-

Revised (NEO-PI-R)

Analogical problem of determining

relationship between several

elements is classified in problem

typology as problem of :
(A) transformation

(B) arrangements

(C) local-global distinction

(D) inducing structure

11.

12.
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ETeTedsht HymHed foara=nt A9

I e ?

(A) R@ESE oIEid TE-del T=edl
(3 hFH.-3TR)
(B) T9dds® q@uE <= (AT3.)

() Se-3e A TR (WA

34.)

(D) Fsi-Td=de < i-ReEss

(fH3N-d1. 379, -31R)

3R TR Aadey faiid seoaremn

AIGSATTHM THEIA e SRieh o e

IV FHE WA Ffiehd sheil STd ?
(A) &Y

(B) W= (3&HY)

W

(C) Taeh-df¥esh Tish

(D) Yodeh G




13.

14.

The resting membrane potential in

the neuron is expressed as :
(A) +95 mV
(B) -40 mV
(C) =70 mV
(D) +106 mV

A person who only has one

functional eye cannot use to depth

cue of :

(A) Accommodation

(B) Motion parallax

(C) Binocur disparity

(D) Interposition

13.

14.
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= fagnd ged favwe gash sl ¢
(A) +95 mV
(B) —40 mV
(C)

—70 mV

(D) +106 mV

1 Tl Shdod Tehd Sledl hiH shidl

g, df IV AT Gohd oTIE I

AT ?

(A) GISH

(B) Tl TRINE

~

(O) T

o o
[

CIECRELEER]

(D) wEFEIEd

[P.T.O.



15. Which of the following is/are correct

16.

in case of “g” model of intelligence ?

(1) J. Carroll obtained “g” in strata
I11

(2) There are many “S” factors
for

(3) Jensen argued

environmental social factors as

[P

major contribution to “g

(4) Factor analysis is used to obtain

[{P )

g
(A) (2) and (4) only
(B) (1) and (3) only
(C) (1), (2) and (4) only
D) (2), (3) and (4) only

The human auditory cortex is

situated

(A) unilaterally in the left parietal
lobe

(B) bilaterally in the temporal lobe
(C) exclusively in the occipital lobe

(D) in the inner ear and thalamus

DEC-13213/11

15. Sgmd=a ‘S’ greureed  hivrd/dl

16.

faum/q sRsR ema ?

(1) S serel fag=n @R s g
THeare.

(2) [ Ak ‘uy’ Hew e

(8) SIFHAY ITdIeRuiT g WIS S

“ TeRTERS STeEER AHAd STl

JRIE P

(4) “'Si" THcsfauarad wes faversom=n
IR el AR

(A) (2) =0 (4) Therd
(B) (1) 31T (3) ek
(C) (1), (2) (0T (4) herd
D) (2), (3) W (4) Herd
90 YAafETSE A9 I

(A) ST FEESHE, THE Al

(B) ®UTEM <Rl aS[el

(C) Tod YTIHIESHIT

(D) Sidvid o ey qed




17.

18.

Recently, after a disgusting event of
gang-rape, a psychologist
interviewed 200 women to find out
as to how this event changed their

attitude towards women’s safety.

This is an example of :

(A) attitude change experiment
(B) psychometric study

(C) field experiment

(D) ex post facto field study

In the context of reinforcement
theory of learning, the gambler’s
fallacy’ is an example of the effect

of :

(A) fixed ratio schedules

(B) variable ratio schedules

(C) fixed interval schedules

(D) interval schedules with limited

hold

17.

18.

DEC-13213/11

T Teddedl HHfgHh  Sllch I

FUTEIE TR, Teh! AHHSTEAR QST

= TG B 1 Feqe T
e Si-granfases sifugst e
ST AT G hel. § JeIotishl el
ST AR ?

(A) SAYeR-sige T

(B) wHIfHGE Tea

(C) & wam

(D) T UvEd A TSI

SIAAT Yoo fHgageR, S

dehery’’ T Ao IR IR

(A) TeeR U A7

(B) URerda 7ol STEE!

(C) THHarurdt A=

(D) SUETeh ShIeT=l Shiella’] STgg=

11

[P.T.O.



19. Match List I with List IT and select
the correct answer using the codes

given below the list :
List I List II
(Reasoning Theory) (Explanation)

(P) Pragmatic theory (1) Mapping reasoning
information to already

available information

(Q) Mental model (2) Conclusions based on

formal logic

(R) Social contract 3 Manipulating
representative
meaningful concrete

information

(S) Syntactic rule theory (4) Evolved mechanism to

detect violation of rule

Code :
P @ (R) (S)
@a O @ (3) (2)
B @O O (4) (2)
<e @ @ 3) (1)
O @ @ (2) 3

DEC-13213/11

19. T I 9 g I A= SIS ol

amfor wreft foeiean Fehdmya 4rg W
e -

T 1 Tt 11

(T g (TR
(P) ThetaTal 3qUt ) arfes wifedt qaf=
SYeTe A=A STERET
Hiew

(Q) HHIH Jr&y 2) fasesl ® i
TR IMETEL AT

SIS

(R) HHISTeh A (3) grfafefiss stefqol 7d
Hifedl BrdTeaol

(S) IEREA | (4) Tromr SooreA e

RN ScohTd ITOT

P) @ (R) (S)
@a O @ (3) (2)
B @O @ (4) (2)
< @@ @ 3) (1)
O @ @ (2) 3

12



20. Which of the following is correct in

case of visual sensory memory ?

(1)

Stimulus can be selected on the

basis of physical characteristics

(2) Generally 50% information is
available after 300 ms following

stimulus offset

DEC-13213/11

20. T WS SIS GIeiedeh! iU

WL A8 ?

(1) SEuh @ difqes ToufasisieR fegen
S]]

e eaHae= 300 HiLG. AW
UERI: 50% Wifed SUeTsy 3T .

(2)

o o (3) QAR &Ha & IR A&
(3) The initial capacity is not more
arfees AL
than four letters
(4) It is not affected if stimulus is @ & };[\_:;QM et S
followed by visual mask i '
(A) (1) only @A) (1)
(B) (1) and (3) only (B) (1) =T (3)
(C) (3) and (4) only (C) (3) emfor (4) W
(D) (2) and (4) only (D) (2) smfor (4) we
21. The PET studies using brain glucose | 21. Cl’cg\t&ll NERERINERIE] (EI"T.TTﬁJIEL)
metabolism (BGM) hypothesis of FFER N3d. (PET) 1w 3/
intelligence will predict that on qeehe e A e R
problem solving tasks, high N -
, , .. HHT FIHTAM SHTRTUE THET TRER=AT
intelligence individuals, as
. . HEE
compared to low intelligence
individuals, will show : (A) e ot.Siug. gefada
(A) increased BGM (B) FH EﬁTrﬁ'QTL vtade
B BGM - -
(B) decreased (C) Sit.Sf.uq. #7ed Afeseh dgel Seferdiel
(C) random changes in BGM
(D) &.1.Tq. 7 Hich TRMGUR ATera
(D) no difference in BGM
13 [P.T.O.



22. Match List I with List IT and select
the correct answer using the codes
given below the list :

List I List II
(Conditioning Term) (Description)
(P) Conditioned stimulus (1) Conditioned

stimulus repeatedly
presented without
unconditioned

stimulus.

(Q) Generalization (2) Conditioned response

reappears when
conditioned stimulus
is presented after a

time gap

(R) Extinction (3) Produced by

presenting neutral

with unconditioned

stimulus
(S) Spontaneous (4) Conditioned response
recovery produced for
conditioned stimulus
similar to original
conditioned stimulus
Code :
P @ R) (S)
@a @© @ (2) (4)
B B @ (1 (2)
< @ 2 3) (D
M @ @ (4) (1)

DEC-13213/11
22. TEl I 9 gEr M At Sredn dren

g @elt feeiesn Tehd araed A 3EYh

aer
i 1

Tt 11

(e fases g3 m) (Fui)

@) AfEREsEus (1) AfYERE SEUE IRAR
SATYEY SETaRIRTE™
e el

(Q) HM=RT (2) wTATAR  sTfvEfea

IEAH FTEY S eITax
sifyafea srfsan g

Tehe B

®R) oo (3) de%e g ayafuHfea
Ik Tehsl HIGT shed™
Frmior 2.

(S) T&St YA Tt (4) ANERYT SEIHERE™
O e HIel e
sIfvEiaa SRt yehe
2.

Hehd :

P) @ (R) S)
A @O O (2) 4)
B B @ (1) (2)
< @ @ 3) (1)
D @ O 4) (1)

14



23.

24.

Which of the following is/are
examples of operational definition of

intelligence ?

(1) Subjects score on Cattell’s

culture fair Intelligence test

(2) Teacher’s of the

students on intelligence

ratings

(3) Psychologist’s ratings of the

patients on intelligence

(4) Definition of intelligence in
terms of abstract thinking and
problem-solving ability

(A) (1) only

(B)

©)

(D)

(4) only

(1) and (3) only

(1), (2) and (3) only

Which of the following has not been

proposed as an explanation of visual

illusions ?

(A)

Variations in the visual sensory

apparatus

(B) Small distance between eye

balls

(C) Interpretive errors made by the

brain

(D) Previous learning experience

DEC-13213/11

23. YEctue! v/ FigHTrE Hihareh

=/ 30/ 3T 2

(1) YIFTAT HAAT Heal H3N

JfgHl A= gTaich

~

(2) 1

et Ifgadfaeel e

(a)

(3) Tl JfgHEafas

BIEE N R

SHENEDE

~

(4) oMd fa=r =l 9 guE
drefauari amdr el Jfga=
A

(A) 1) ®d

(B) 4) e
(C) (1) =1 (3) wed

D) (1), (2) 37 (3) e

24. WIATGTUsh! S0 TSI TSI

= 2

(A) TH WERHE FA0HE TR I]A
(B) Fefesimeiict i A

(C) ¥ggR == foeronees e

(D) e 1o STqd

15

[P.T.O.



25.

26.

A post-decision cognitive dissonance
in which person has to decide
between two choices, each having
positive and negative components is

known as :

(A) approach-avoidance conflict

(B) multiple approach-avoidance

conflict

(®)

inconsistency conflict

(D) forced complience dissonance

Which is/are true in case of need for

affiliation (n-aff) ?

(1) The EPPS measures n-aff

(2)

Relationship between n-aff and

n-ach is stable across cultures

Maslow considers n-aff in the

(3)

midway of his hierarchy

(4) Anxiety reduces n-aff

(A) (1) and (3) only
(B) (1) and (4) only
(C) (2) and (3) only

(D) (2), (3) and (4) only

25.

26.
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froferR sufes fomare soma =feden g9
gAY e wuEEt SR i gk

QAT &FTcHeh o 0T EIDN \‘ngdld,

SYM gfEefidien I w=udd
(A) STH-3TTH T

(B) Sgfay ITH-TH Fedl

(C) THadl (STh{g&dr) 9o

(D) AMaE Tue foE

HATd= TRSoTed  @elteTdeh!  hIvld

T /3R ?
(1)

s RALTH. Herde TS A

ETGH

(2) U TS o Sl TSl A

Tegay fafay Tehdi=n Taia fer
R,

FATTA=IT ST HEAT =T
Afyuiined AegarTd 3aql.

3)

(4) foa1 gera=it TS FH F.

(A) 1) 3 (3) wed
(B) (1) 301 (4) e
(C) (2) M (3) Hed

D) (2), (3) =AM (4) wed
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27. Match the List I with List II and
indicate your answer using the codes

given below :

DEC-13213/11

27. & I 9 gt I At Sredn dren

SN

9 Wet focicdn ehdish ade I 3

faer

List T List 11 T 1 T 11
(Types Memory) (Description) (Tl W) (=)
(P) Declarative (1) Memory for general | (P) a/aeh/fG¥McHs® (1) HTHNI FEIET St
knowledge ot
(Q Procedural (2) Memory for factual | (Q TaHfifawaes Tyt  (2) dearcHs wifgdrardt=
information il
(R) Semantic (3) Memory for | (R) STIATE (3) aAfCITHS qUiTETSTedt
biographical details Tt
(S) Episodic (4) Memoryforskillsand | (S) SATEgd (4) Ty Ao e eI
habits il
Codes : Hadih :
P @ (R) (S) P @ (R) (S)
Aa @ 3 (2) (1) Aa @ 3 (2) (1)
B @ @ (1) (3) B @ @ (1) (3)
© 3 @ (2) (1) ©c B @ (2) (1)
M @O @ (3) (4) M @O @ (3) (4)
17 [P.T.O.



28. Proprioceptive, vestibular and visual

systems together :

(A) ensure comprehension of signals

(B) play a role in balance and

posture

(C) lie in the tempero-parietal

region

(D) are linked with the ventricles

and CSF

Instructions for Q. Nos. (29 to 33):

Read the following paragraph and
answer the five questions following
it :

Paragraph An educational
psychologist wanted to develop an
achievement test in Arithmetic for

children in the final year of primary

school. She found that the major
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syllabus in arithmetic at primary
school level consisted of four basic
arithmetic operations, fractions,
decimals and verbal problems
covering basics like simple interest,
speed and work rate. She wrote
eighty multiple-choice items in the
above areas, each item with five
alternatives. A draft version of the
test was given to a sample of 250
students. The item analysis was
carried out by finding difficulty
indices and item-remainder
correlations. Sixty items were
retained in item analysis, though
there sixty items did not have any
item on speed and work rate. The
new

sixty-item version was

administered to a new sample

DEC-13213/11
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29.

(N=300) twice with a time gap of
eight weeks. The test-retest
correlation was found to be .27,

significant at 0.001 level. Cronbach

alpha of the new version was .80.

Which of the following statistical
technique/s can be used for assessing

item difficulty in the above study ?

(1) Percentage of students passing

the item
(2) Discrimination index
(3) Item-remainder correlation
(4) Item response theory estimators
(A) (1) only
(B) (1) and (3) only
(C) (1) and (4) only

(D) (1), (2) and (4) only

29.

DEC-13213/11

TFET YU ST ATEvgarav Tege.

27 BA T @ .001 Udcsior HIReTsh 3

ST AU Bl ATV el STl

HHeh TTH 80 Akl Bl

IO FINYATT S0 997 ShiSua= HIOH

HIOATEST R0/ T3/ a9l I
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30. What inference would you draw

31.

about the validity of the resulting

achievement test ?

(A) Satisfactory content validity

(B) Unsatisfactory content validity

(C) Satisfactory construct validity

(D) Unsatisfactory  construct

validity

Item-remainder correlation, in the

above study, would involve :

(A) Point-biserial correlation

(B) Phi-coefficient

(C) Contingency coefficient

(D) Tetrachoric correlation
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32.

33.

Which of the internal consistency
measure/s can be calculated in the

above study ?
(1)
(2)
(3)
(4)
(A)

Split-half reliability
Cronbach’s alpha
Kuder-Richardson reliability
Interscorer reliability

(2) only

(B) (1) and (2) only

(C) (1), (2) and (3) only

(D) (1), (2) and (4) only

Which of the following statement is
true in the context of the above

study ?

(A) The test has good test-retest
reliability

(B) The test has poor internal

consistency reliability

(C) The test has good internal
consistency reliability as well as

test-retest reliability

(D) The test has good internal
consistency reliability but poor

test-retest reliability

32.

33.
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Question Nos. 34 to 38 :

In the following questions, each
question has two statements—
Assertion (A) and Reason (R). Read
each question carefully and decide
whether Assertion and Reason are
individually correct or not, and if
they are correct, whether the Reason
is a valid explanation of the
Assertion. For each question, before
the corresponding question number,
indicate your answer using the

following codes :

(A) Both A and R are true and R

is the correct explanation of A.

(B) Both A and R are true but R

is NOT the correct explanation.
(C) A is true but R is false

(D) A is false but R is true.
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34. Assertion (A):

Reason (R)

35. Assertion (A):

Reason (R)

Experimental
method is usually
considered to be
best suitable for

studying the
cause-and-effect
relationship

: In experimental

method,
independent

variable is
manipulated and
the secondary
variance is
efficiently
controlled.

In famous
Schachter-Singer
experiment on

emotions, when
the subjects were
injected
adrenaline and
exposed to
euphoric condition
then the mis
informed
participants were
happiest.

: They attributed

general physical
arousal to funny

things done
during the
experiment.

34. faam™ A):

%R0l (R) :

35. faam™ A) .

%R0l (R) :
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36.

37.

38.

Assertion (A):

Reason (R)

Assertion (A):

Reason (R)

Assertion (A):

Reason (R)

In spite of using
factor analysis,
Cattell
Eysenck obtained
different
of
personality

and

very
number

factors.
: Eysenck primarily
used SEM-

confirmatory
factors analysis
Cattell

primarily used

whereas

exploratory factor
analysis.

Rating scales are
often used while
collecting the data
using method of
observation

: Rating scales help

us to prevent halo
effect
Memories are
influenced by the
interpretation and
meaning we give
to events.

: Past memories of

events can be
reproduced in the

present.

36. faam A):

%R0 (R) :

37. faam A):

%R0l (R) :

38. faam A):

%R (R) :
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39.

40.

41.

In an analysis of k x p contingency
table, the chi-square is based on ten

If the

contingency table has six rows, how

degrees of freedom.

many columns would it have ?
(A) 2

B) 3

(C) 4

(D) 10

Three elements of social identity
are :

(1)
(2)
3)
(4)
Codes :

A) (1), (2), (4)
(B) (2), (3), (4)
(C) (1), (3), (4)
(D) (1), (2), (3)

According to the levels-of-processing

Personality
Self concept
Self perception

Roles one undertakes

model, a memory lasts longer if :
(A)
(B)

Maintenance rehearsal occurs
It is processed at an acoustic
level

©)
(D)

It is processed semantically
It is processed according to

sensory qualities

39.

40.

41.
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TH1 & x O SATSRThRdT hischr=Al
foreTsoTd, S-SR Yo <@l qio-
IS Tl 3Hlel e, X md Tohl
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(A) 2

(B) 3

) 4
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TS SAfRIe T H<eh STy Tl
RA

(1) =HfeRAS

(2) TW-Hhead
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(A) (D), (2), @)
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(C) (1), 3), (4)

D) (1), (2), 3)

A Y a=AT-Tldes e aT{aR S
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42.

43.

In syllogistic reasoning, belief bias

refers to the use of :

(A)

quantifiers

(B) atmospheric bias

(C) other individuals beliefs

(D) real world knowledge

M. Cole (1971) found that on
intelligence measures, tribals do not
items hierarchically (as
do), but

functionally. This indicates :

sort

Westerniers’s sort

(1) need to use -culture-fair

measures

(2) influence of cultural context on

intelligence

(3) poor ability of tribals to sort

hierarchically

(4) need of culture-relevant

measures of intelligence

(A) (1) only

(B) (3) and (4) only
(C) (2) and (4) only

(D) (1), (2) and (3) only
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44. The following is the correct order of | 44  sifiyeg sifadem gfEsa 9va &5 o790
events in the course of classical

conditioning : :
(1) Neutral stimulus—No (1) @ FUsh — dldal 3I9E
salivation )
(2) deXI TR — AAWEYT IR
(2) Neutral stimulus—
Unconditioned stimulus (3) eHfyvEfyd 3Iguewr — sHMETA
(3) Unconditioned stimulus — sfean

Unconditioned response

(4) AT IETHh— AfvEfya sferan

(4) Conditioned stimulus—

Conditioned response (A) (3), (2), (1), (4)
A) (3), (2), (1), (4)

B) (4), (2), (3), (1)
(C) (1), (3), (4), (2) (C) (1), (3), (4), (2)

(B) (4), (2), (3), (1)

D) (D), (2), (3), (4) D) (D), (2), (3), (4)
45. Which of the following are

mnemonics ?

45. Wefid S Wiaaems Ted ?

(1) Keyword method (1) F-7 Tl

(2) Narrative story method (2) e ¥ wgdl

(3) Method of Loci (3) <™ WSt

(4) Pegword method (4) TEE wgdt

(A) (1), (2) and (3) only (A) (D), (2) efor (3) weka
(B) (1), (2) and (4) only (B) (1), (2) =for (4) e
(C) (1), (3) and (4) only (C) (1), (3) AT (4) ek
D) (1), (2), (3) and (4) D) (1), @), (3) = (@)
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46. Match the List I with List II and

indicate your answer using the codes

given below :
List I
(Perceptual Concept)
(P) Impossible figure
(Q) Isomorphism
(R) Perception of message
without awareness

(S) Perception that does

notinvolve known
Codes :
P) @
Aa @ @
B B @
<©c @ O3
D @ 3

List II

(Example)

(1) ESP

(2) Devil’s Tuning fork

(3) Gestalt

(4) Subliminal

perception
R) (S)
(2) (3)
(1) (2)
(4) (1)
(4) (2)
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(3)
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(1)

(2)
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47. Match the List I with List II and
indicate your answer using the codes
given below :

List I List II

(Description) (Type of Self)

(P) The ‘ME’ that is conscious (1) Social Self

of my thoughts and feelings

(Q) The ‘ME’defined by which (2) Ideal Self

ever context [ am in

(R) The ‘ME’ that comes from (3) Relational Self

interconnected others

(S) An understanding of what (4) Personal self
others want ‘ME’ to be
Code :
P @ R) (S)
@a @ @ (1) (2)
B @ @ (2) (1)
< @ @ 3) (2)
M @ (@ (1) (4)
48. Which of the following is/are correct

regarding Wechsler scales of
intelligence ?

(1) Require individual administra-
tion

WISC has four subfactors in

latest edition

(2)

(3)
(4)

It is a age-scale

All WISC 1V tests are timed
tests

(1) and (4) only

(1) and (2) only

(1), (3) and (4) only

(2), (3) and (4) only

(A)
(B)
©)
(D)

DEC-13213/11

47. & 19 gEr I WA SIS dren
g TTATA Fehd d9®T AT I

IREEINE
el 1 el 1

(aui=) (=T Uahn)
OREEEE R CRICES (1) G =
ST Ageen ‘&’
(Q < URfEdid g & (2)  ARY S
A AGeen @’
(R) U= Haeqd o (3) HoHUHE @
reren =
(S) HIZATSECT= TaU= 3T0eli- (4) oaferieh @
Ty fmto 2o =
WHahd
P) @ (R) S
A @ O3 (1) (2)
B @ @ (2) (1)
< @ @ (3) (2)
D) @ (2 (1) 4)
48, Wreterds! Hiora/dl fasm/a aver

QAT ATodded OR/ER STRd

(1) <TIT SRINTd UTdestol STl iTd

(2) S, ™. THH. A =r=oie

TAHTH STid =R ITeeh 3R
(3) M o U =

(4) W8 T=Y. @ WH. W IR Hfia
S0 1 hiel HId =m=on 3.

(A) (1) 3o (4) e
B) (1) 3o (2) e
(C) (1), (3) 3for (4) e
(D) (2), (3) 3for (4) He

30



49.

50.

Which of the following is correct
about Guilford’s SOI model of

intelligence ?

(1)

Content, product and operations

are three-dimensions

(2)

All factors are completely

orthogonal

(3)

Sol considers creativity as a

part of intelligence

(4)

Inductive reasoning is a part of

Sol
(A) (1) and (3) only
(B) (2) and (4) only
(©) (1), (2) and (3) only

(D) (1), (3) and (4) only

The thirst caused by a drop in blood
plasma is called as :

(A) Osmometric thirst

(B) Volumetric thirst

(C) Water loss by sweating

(D) Loss of osmosis
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ROUGH WORK
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